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POLITICAL SCIENCE

Full Marks : 80
(Part-A =40 + Part-B = 40)
Pass Marks : 24

Time : Three hours

The figures in the margin indicate full marks
for the questions.

PART-A (I -9%)

Q.-No. 1 carries 1 mark each {any Six)...c.uis 16 = 6
Q. No. 2 carries 2 marks each (any five) ............. 2x5 =10
Q. No. 3 carries 4 marks each (any three)........... 4x3 =12
Q. No. 4 carries 6 marks each (any two) ............ 6x2 =12
Total =40
PART-B (¥ -9I%)

Q. No. 5 carries 1 mark each (any Six)................ 1x6 =
Q. No. 6 carries 2 marks each (any five)............. 2x5=10
- Q. No. 7 carries 4 marks each (any three)........... 4x3 =12
Q. No. 8 carries 6 marks each (any two)............. 6x2 =12
" Total =40
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PART-A / -9 [ 5-90x / w-SE
| ( Contemporary World Politics)
(TR [y e )
(ﬂﬂwm@ﬁﬁ%@@ﬁﬁ%);
(FT Tt G woEer)

1. Answer any six from the fplloﬁng questions,~ . 1x6=6
fsfeiie e =@t Rz gbr e Sew fr ¢
ﬁ'ﬁﬁ'tﬂ@ﬁ‘ﬁ@ﬁ (AT I B AT e (T ¢

(;:z} India is a member state of ASEAN . (Write Yes/No)
o SRR ] 352: | (/72 fir)
OR® GFRIGH (ASEAN) 07 g | @/ e Y
qﬂmqmﬂﬁ@?ﬁmml | - '(7'777/7377%70'

(b) Who can exercise the ‘veto’ power in the Secunty Council ?
ﬁw@ SHfFAMS ‘(S5 TSl (I ST IR iy ¢
fRaislel SRR ‘(ST Il (@ AT TS iy
Yty sreEE R &l SETEH! BTl ? |

(c) Whicle. State is the successor of the Soviet Union
@zt TR TeIRPIS A PRI 2
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@

(f

(g)

W@‘m—iﬁﬁwma@wf‘wr%a@mﬁ?
Wﬂéa@ﬁ@fuwmwmﬁwaﬁﬂ@m7

Which country is regarded as the thlrd altematlve centre
of world power ?

?@ﬂﬁwwmﬁiﬁmwwmiw?
Wa@wa@ﬁaﬁﬁteﬁw#ammm?

- Write the full form of SAFTA.,

.SAFTAK T FoATHT el |

SAFTA~ER =i Tl el

SAFTA-fY a1 e 2 |
Which day is celebrated as United Nations’ elay ‘?
(IR Ol AT et Tristy 1 2 2 |
I f’Z‘»ﬂ%@#@W:ﬂ W@Wﬂw T 22

A1 IR e R i wife tvn!ﬁ? |

Wmte ‘Yes or ‘No

= Wi’/aﬁ‘m’ﬁ'«’ng

U gy W @A
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1 gar 71 fo
' Technology is an 1mportant phenomenon of globahsatlon
- ARl R af @a'»\avﬁ Zﬂam
oy ﬁwmma ol oY g5l PR |
faftarfirn AF iR GEAETR WIS |

(h) What is Gréenhouse gas? .
fwees o fe
e 7 ﬂv e |

(i) In which year India successfully tested its first nuclear
bomb ?

mwvawmﬁﬁwm ST ST Seafe 0
aﬁmwmﬁf&ﬁrﬁﬂﬁsﬁmﬂwmww

STRIHH ? N
() What is the .‘full form of WTO ?

WTO 3 7= =Iol 2

WTO-a@ 7o zelfo 12

WTO-f7 311 "8l =i ?
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2.

Answer any five from the followmg questions : : 2x5¥10
RS eTRe S@ Ay sy e Uo forar s
ﬁwf%lﬂ—ﬁ’ﬁ@%{ (T mmmmmﬁmmwa

THEWF—T AR STaRersar Hrnfy ﬁm?m o .
(a) Write the theory of UN wh1ch deﬁnes the 1nd1genous people.

(b)

Rerdral e WV R fl sAcearcht B
CPTIR SRR TS AT (reaT I Cegal |

’,mwmﬁwmmwm

Or / /331 / w23t / war

Write short note on : Sacred groves in India.

W'mﬁémwmﬁ@ml

- ARG il mzzlwm'vfﬁ— q FEH

e forem o Wﬁmwml

Mention any two countries in South of India who are the
members of SAARC. '

wwﬁmﬁ%wmmmmmmﬁw

ORISR 7 710 S[%e SAARC-9R (@I 515 % AT A
GETCA |

W@waWSMRCﬁWWWWTﬁﬁH
fer) |
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t ti . ' : _ o o . |
( ¢) Write two causes of disintegration of Soviet Union. | | 3. Answer any three from the following questions :  4x3=12

W.W@Wﬁa CEl o | | ﬁwﬁﬂ—mwzﬁzﬁmﬁﬁﬁrmw&m°
e Lo AEOFCI qi0 Pl | | - | ﬁﬁ%ﬂ—m@ﬁcmmmmﬁﬁmﬁm
ﬁ@aﬁm@mﬁﬁﬁﬁﬁ@ﬁfﬂi' R - ~."mmﬁ@nmmﬁmmmmmﬁmwm |

(d) What is 'rheant by South Asia? ‘ i} o - (a) Write two arguments in favour of and two arguments agalnst
-1 Globalisations. =
Wﬁ?‘iaﬂ'ﬂiW@W’ WWWW@W{%WI |
e e S T R "ﬁvmﬁwnﬂ«gﬁm@m@mﬂm

(e) Mention two causes for the failure of stabie democracy in

Pakistan. : . ' A | ) (b) What is the necessity of Internationalv Organisation in. the
I3 slreE fovr crae AfFwrE IFoR 75 IR T T4 o7 world ? Explain its role.
fim oieg efov CRTa AR Lo 75 IR Srard I | o WW@W&WWW?W Sl

o TSR gd @iy g - SR A SR e ﬁmwm@ammaw?mtﬁammm|
(f) Write the permanenf member nations of Security Council. FEE TR TORR SERH it w2 af faw PREE
| (c) Identify the causes of conflict between India and China

.mm’mﬁmﬁmmﬁml o
| ‘ o | and suggest your solutions.
| | . T R W% SiFe oA Reaid REenR s 30 ol (omR starmf
\ - ' fo TR BETHERA § foR o o - - |
fy 1gAt <W> | A | | IR |
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(@)

(e)

25 / POSC

Wmiﬁmﬂmm@ﬁﬁmﬁwmaﬁémw

o L

T I B
Or /7RIA/ TN/ T
Write a note 'on European Union.

ST TR eome ¢t ot o

3@@% e Tl @ T TRl

mﬁ@ﬁ@r&rﬁwwmﬁmn

What is the Balance of Power ? How can a country Fiaintain

this balance ? |

ol SR &7 QMQ@?WW&’WWW?

sl ORI 17 3 G @B ORI FIOR T AMS AT

mmm@7mma@mﬁwm>

How is the relationship between India and Nepal’D
T TR (R T TAAE (P 2

O R FAIER T TAIE Pt 2

yRe ST A o SR W ?

[8]

Answef any two from the fellowing questions : | 6x2=12
ﬁm%@— I oI z’w?mmr w1 L Te f%mn g

_ﬁ"’ﬁﬁl_ﬁ‘ﬁ\s% (AT @mﬁmw G

(@) What is the stands of India for environmental issues ?

AR RO RS SRS SRRl (R ?

AR Tepre R owred g 12
ST fafeTE T zﬂarﬁ farren T ?
or /R ) T
What is the relationship between the rights of indigenous

people and environment? Discuss briefly.

Rl SRR SRR Sl SRR e ST e 2 T Seetioen

4

TR SRR S Rg ARGECR g AE F2 ARCHA

RGBS

mwﬁmmwﬁwmmm@m.
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Shock Therapy ? Is this the best way for transition 1 | - N L
4 | PART-B / 4-92 [ 24-9d / @-=erh

(b) What is €
| from somahsm to capitalism? - o ~ - . . - .
. :  (Politics in India Since Independence )
'ﬁcmﬁﬁmwwmﬁﬂﬂﬁww&cﬁmﬁﬂa - ( | (W@W—r-—moafﬁﬁ)
o o @ 2 | - | (m@mr@awwﬁﬁ)
%@ (Shock) CW@?WW'CWWWWW . |
' ‘ | | A | . R S. AnSWGI' any six from’ the followmg ‘questions : 1x6=6
& «fs @l e A2 =E=e | B . ' |

&% 9ufd (Shock therapy) H? WS wﬁwargq ﬁﬂ%ﬁ@ epspafe (AT mmmﬁwﬁ? SroaR T (RT3

7 ATl W AT <Wﬁmaﬁmamfwmuﬁz'ﬁww;
() What is human securify 2 Discuss briefly. '(a) In which year Bharatiya Janata Party was formed ?
B f - | w@awmmmmwm?
- g el e 7 S el . » | 8
s Fer@l 12 FRERCe Sl T N ﬁ?tntrrq ———
q9 Yaify qﬁ m?g"ﬁ g | (b) Wthh Party won the 1977 General Election 'J
1977Wﬁ‘<ﬂ‘b‘ﬂ_\‘> R e S IR 2

1977 AER FAE @HWWW?
1977 TREUEH ﬁmﬁm A T SRRH ?

C [10] | . |
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(c) Which princely state conducted election on the basis of

Universal Adult Franchise for the first time ?

I mx‘ﬁzwaawmmm c—mﬁaﬁaﬁ’tﬁamm—
ﬁmﬁ—rﬁ—@fiﬂv

wmm@—»rznm c—ﬁﬂ@ﬁﬁrﬁwmmmﬁﬂm,

W%“mf?@i

ﬁm@wﬁﬁ@aﬁwé@rwwﬁmmﬁwﬁm-

'@mﬁﬁm@f‘amﬁlﬁﬂf

(d) Who was the Prime Minister of India after Pt. Jawarharlal

Nehru ?

WW@%W&W@WW?

GETIENE (TZFT A SIS YANTT (T om0
AT T I AT MR A W el 2
fe) From which year the first Five Year Plan was started ?
@mmvmmﬂﬁmar%ﬁﬁmwtiﬁ@?
(@ A (ATE 2L w%aﬁ%ﬂﬁmwimﬁm
o8 e fif =1 SRR Tt Sser

25 / POSC | [12]

(f) .

(9)

(h)

What is the full form of EVM ?
EVM I 37~ Fi05t frat |

EVM-F 75} il et |

EVM-f1 &g w87 =12

th was the chief architect of India’s. foreign policy ?

SR TR T 39 2R I e o 2

iares Ruit ew 37 ZARRY, P 36 ZW?

umﬁaaﬂmﬁ@rﬁﬂﬁg&mﬁrﬁw@ww7

When was- Sikkim merged Wlth India ?

| meaﬁsﬁaﬁf‘i‘v{?

(1)

mi%ﬂm—m—q q—fmﬁﬁ

fofemel MES wedl SEEeEE SR ?

Who was the first non-Congress Prime Minister of India ?
OIS 4 SRR 2G]SR 2
TRTST U - A (< e

arafy fifs dsh 7% e ARy WRCAR 7
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When was Assam Movement organised on fdreigners’ : | -7 (¢ On which date draft of the Indian Const;tutmn was signed

0 | ' : a d
issue ? ' ho and it came mto force ?
ﬁmﬁwtﬂmméﬁmmﬂ%@f@? | - | W'@Tz;wmﬁwwwﬁf%mimw
| WW A SICER R e e . | - : o
. ' e . - © - A ; . . m@ﬁmmwﬁwmwwa«ﬁm
| . | | | mwwﬁﬁﬁﬁaﬁmm( )s‘mm
2x5=10 I . quR aﬁm’msm

6. Answer any five ffom vth'e .following questions : | B | (
R W o Rzt 9]75?7‘8[’5131‘ Teg fordl 8 o o o (d) Mention tl.UO.,ObJeCthCS of Nehru’s foreigh I;OHcy ?
| T T A g ST S w1

e R A g Sy o v

TREH A mﬁ Tiff AFA i fri

FRRS emef (A @I A5l 2R Te T ¢
ety SAEERE SEtEeE AAe fEEE R

(a) Explain the concept of ‘whip’..
AR |
| A (e) Write a note on NDA.

s’ YIFANCH! A T | o : |
| | mﬁ;‘%mnw: | | - o4 NDA T @o[s «fS GBrat fordl |
‘Whip’ 41 U1 | - - - - |
o . | NDA~4F At @6 Biel (el
Whip’ ~ . | | - NDA-f1 wrm A fegeam far

evolution‘ ' :

. , : _ (f)/ Why was State Reorganisation Commission set up ?
ATy ofia S15 Al R ofow N TR
S el SR oo A TARA @AL

(b) Wnte a short note on: Whlte R

5y (BR v 8 oFs e

Fefee Gl cazﬂnzm@ﬁzﬁ
ed fom : IR G TS QT ST A T SRR 2
[14]
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7. Answer any three from the following questions :

ﬁaﬁ@swwmﬁoﬁﬁm@mﬁm

frfifs emefm NWWWW@@I @Al s
TR SAEHRARR ﬁPﬂEﬁWﬂ'ﬁHﬂFﬁTﬁF$ﬁq1%R:

(a)

(b)

How did the fourth Gerneral Electipns in 1967 chaﬁge the

dynamics. of Indian politics ?

W' arﬁﬁﬁ? AfoTeTers 1967 579 bgd aRe Ao R
CRITER G110 I SATTOIE 1967W ’«’fﬂwﬁ"{ﬁ'ﬁm@ﬁ@
AfE FERE?

qmﬁwmﬁwﬁwm@wmmﬂsﬁmwﬁm@fw
HaEife QA=A AERAA 2

Write four features of India’s coalition governmerit-.
CReT YE T61 G ST (e v

SRTSR TG (NG FRRIE BRI AR

T e o TR A g fa|

(c) How the problem of Regionalism can be solved ?:

25 / POSC

eelRTeRITE S R TG BRI AR
SeRReRIcE TP Fred T Tl (S Al

ST S weife e g 2

[16]

4x3=12

Or /5231 / <\ / qarr |
ine a brief note on Ja‘mmﬁ-Kaéhmir.
TPl @ve @fS G fora
TR B @3 e i T

@

(e)

25 / POSC

Whaﬁ were the 'céuées for mid-term election in 1980 ?
1980 Wﬂ@lﬁw fRffoe e R R onfee

1980 AR TG ﬁmb—m Frelef N N e

1980 mﬂsﬁwwﬁm@ﬁ:ﬁwmmmﬁm

Or/ﬂﬁ?f/@fw/@

Who announced Twenty Point Programme and why ?
o R R <o caren e e R o
ﬁeﬁfa@@@ (RN AR R (2

R 3 T R e o T2

What is Green Revolution ? Discuss the economic and
political outcome of Green Revolution.

oioE e T 7 (Tow R Sl T TR AN A S|

41|
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| Wﬁﬁﬁﬁ?ﬂ{@ﬁﬁ@ﬁ@@%ﬁ«ﬂ@m@ww
@ |

mmarﬁgmmhﬁmmﬁaﬂmﬁwﬁaﬁmwm&fwm@ |

e |

: 8 ' Answef any two from the followmg questions : : 6x2=12
Frafie e o[l ﬁm’wf zz‘-*fm e o ¢
fAReRs emaf (A e ffﬁ‘ TR BET (A 3
(a) When was the Bharatiya Jansahgha formed ? Discuss its

ideologies.

ﬂﬁﬂw\z@ﬁmﬁfz—tﬁiﬂ WWWle

@ OFSI GAIKY oIS ZrfE? sﬂawwﬁﬁmw~ml

i S T g S ? 3 ored 1 de wra
Or /7%t /&% / T

Analyse comparatively about the nature of Congress

dominance in India.

| SR g SfEre AP RS QAT RO S|

mwwﬂwﬁmmwmmqw'
W@gﬂ@ﬂﬂﬁﬂ@mw’@mﬁﬁmmﬁl
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(b) What are the main considerations of the'mergvexr' of Princely

St
ate thh United India ? Who played hlstonca_l role in it ?

ww\mwwwwm%
"’*ﬂim—mﬁm—ﬁmm? S

| W“\WWWW@%@W«M |

1 e R I e g @ Hae?
WW%WWW@W@@W

Wmmm’émm@tmwm7

What is FOI'elgn pohcy ? Explam briefly.
R A & 2 vy T -
e s e Fwwea JO I
I TgeiR wifern @2 T W
- Or /737 / @3t / gar

Write a note on. non-alignment in' India’s foreign policy

SIRET @R T RS-l ST a6 (Bt ot

10 (O A [ S E T (U4 cenﬁ-ﬁamwwauﬁﬁm |

qRa A ISR @t St T @Y (Non—ahgnment) L]
HE< HRAEA fFR’l

[19]
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